YEAR & - REPRESENTATIONS. ..
N Tables and Probabiity

What do | need to be able
fo do?

By the end of this unit you should be able to:
Construct a sample space. diagram

Outcomes: the. result of an event that depends on probabilty

Probability: the. chance. that something wil happen

Set: a colection of objects

Chance.: the lkelhood of a particular outcome.

Event: the outcome of a probabilty — a set of possibe outcomes

Biased: a buil. in error that makes all values wrong by a certain amount

Union: Notation "U” meaning the. set made by comparing the elements of two sets

Find the probabilty from two-way tables
Find the probability from Venn diagrams
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: P(Obabm’u ﬁ’om Venn diaq’amg 100 students were. questioned if they played badminton or went to swimming cub

40 wert swimming, 25 wertt to badminton and [ went to both

| This whole curve includes
| everyore that went This whole curve includes

Simming Badminton everyore. that wert to

|
|
|
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| SWimming
| Because |1 dd bot% - badminton P() mming) :
| caculate just swimming by o | Becase 11 dd both we Ust swimming) = A9. |
| 40- 11 calculate just badminton 100 I
: by 25 - Il |
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|
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VERK & - AEPRESENTATIONS. ..
o e Representing Data

Variabe: a quantity that may change within the context of the problem

Relationship: the Ik between two variables (tems) Eg Between sunny days and ice cream sales
Correlation: the mathematical definition for the type of relationship.

Origin: where. two axes meet on a graph
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: Line of best fit: a straight ne on a graph that represents the data on a scatter graph :
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| By the end o this nit you shoukd be. able to:
: Draw and interpret scatter graphs

| Describe correlation and relationships
|* ldentify different types of non-inear
|

I

I

I

|

|

* &

Qutier: a point that les outside the trend of graph
Lantitative: numerical data
Qualtative: descriptive. information, colours, genders, names, emotions efc
Continuous: quartitative data that has an infinite number of possible. valves within its range.
Discrete: quartitative or qualtative data that only takes certain vales
Frequency: the number of times a particular data value occurs

relationships

* Design and complete an ungrouped
frequency tabe

*  Read and interpret grouped tables
(discrete and contintous data)

o Represent data in two way tables

e Not all data has a relationship

2 4 6 8
Age of Car (Years)

X

The axis should fit all the vales
on and be equally spread out

Os one variable Os one variable There is no
Increases so increases the relationship
does the other other variable between the two
variable decreases variables

“This scatter graph show das
the age of a car increases the

The Ink between the data can Vale decregses”
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: Draw and inerpret a scatfer araph . - | | Linear Correlation |
I Age of Car (Years) /:\ 4 6 8 10 E = : i x I I 3 * aE s X g X I
N o [ g * §3 1% x = R I

I Value of Car (£s) 7509 6250 | 4000 | 3500 | 2500 % g ] % | | 'g X gg % é X X 5 X I
: - 7 - _§—> § i x < 1l 8 | X 2% ' X s g X x I
e This data may ot be given in size order & g ] | Nufnber of apptes Nurber of ups of offee. |- Lengih of thufnb nail |
l. The ddta forrgm mfomatm pairs for the scatter graph S mEum I ! l : | Positwe Correlition Negalive Correlation No Correlstion |
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be explaned verbaly
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I The lire of best fit I, Using a line of best fit s e e e or
Ine of best fit to predct information
I The Line of best fit is used to make estimates 5. | outside of our data |
about the nformation in your scaitter graph R X% I | g **Ths s not aas useful — in ths |
| T £3 | | loterpolation s using the ne of best example. you cannot score more. |
| | [resodon e b o best it DOES NOT reed to et of ol | | fittoestmate vabes rnede our data £ that 100/ So revsngfor bnger |
| 0 through the orign (The port the | pont § can not be estimated™* |
| aes cross) ft 15 only an estimate | | 4 |
I There. shoud be. approximately the because the Ine is eg 40 hours revising predcts a §
| same number of points dbove and designed to be an average | | percentage of 49 & I
below the Ie. (it may not go through representation of the data | This point is an “outler” |
| any ports) | 20 40 60 80 iggn outler because it doesn fit |
I w: “;e exends across the whok s ahais o straight ine. || fme seeniprRCESRa O th model and stonds apart from |
| o | L the data I
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I UngrOU@d Daiti| e tabk shows the number of : | GrOUQP_,d Data K we have a brge spread of data it s | : Repfesentlm data in tWO‘WaH tables |
| Siblings studerts have. The better to group it This is so it is easier 1o look for a trend Form | Two-way tabes represent dscrete information in a visual way that alows you
The f I I I
| number of times dn GNSWers were |grows of equal size to moke comparison more vald and spread the | to make conchsions, find probability or find totaks of sub groups
| event happered 312203411202 |l | groups out from the smalest to the largest vae | Trere are 5 green I
| | There are 2 green hapes |
I 2 people had O sbings This means therf I < [Cost of TV (£) Tally T : | D O squares \ |
are 0 sbings to be courted here ¢ | S8 o |[0-1s0 ™ 11 7 quares | Circles | Totl
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2 - 2+ A+ 2+ AR Ax4-8 | | We do not know the exact vale of each tem in a group — so an | | _ The 5|
: 3 2 3+30R3x2A-0 | | estimate would be bused to caculate the overall total (Mdpornt) | | Using your two-wau table \ten;exr?;zmi |
4 1 4 \ o |
| P e 3 6 | : s 3 x 1 Frequency I | To find a fraction |
| people have Ssbings sothere are 6| 1 5 & 5 g Weight(g) | | eg What fraction of the tems are red? 3 red ttems |
| Best represented by sibings in total | I %‘ % fgB8==2 eq ths growp | | but §itemsintotal = |
| dscrete data (Not OVEROLL thereare. | | | é £33 so<x<eo| 3 noles every weight | 8 Hierkaing Use wor fracion |
| aas a number) 0+3+8+6+4 | | 8 E‘é § S [ [S0=r=T0/g S b‘@‘t@e’ thd“t G&h@ w | | decimal percentage. equivaknce |
| Sbings - Alsbings | |1 =2 S I | kronedge |



YEAR & - REPRESENTATIONS. .
oo Working inthe Cartesian plane

What do | need to be able feywords

I I I I
I I
I to do? | | Quadrant: four quarters of the coordinate plane. |
| Bythe end of this unit you should be abe to: | | Goordinate: a set of values that show an exact position :
: * Labeland identify Ines paralel to the : : Horizontal a straight e from left to right (paralel to the x axis) |
I axes | | Vertical a straight Ine from top to bottom (paralel to the y axis) :
I I

I Il I
I I I
| I |
I I I

*»  Recognise and use basic straight ines L _
+ denty postive ard reggiie gradents Origin: I0,0) on a graph The point the two axes cross
e Lirk Inear grapts 1o sequences Paralet Lines that never meet
 Poty=mx+c gaphs Gradient: The steepress of a ine

Intercept: Where Ines cross
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______________________________________________ -
I Coordinates in four quadrants K 1 lel to the ; |
| i nes paraiel Lo axes Qll the points on this ne. have o canbe ?NY v‘osmve |
-0xS a x coordinate of 10 or negiive vae
: M Coordnate (x y (6, 4) (! T "T“’ T T Zanaeo vebdng 0 I
C I :
| / From the origin this coordinate is I | / AN 3 9 [
I 6 places dong the postive x | | | ‘ [ P ‘ ! Lines paralel to the y axis take the form I
| axis and 4 places up the postive | Firtersection [ | [, L X = a and are vertical |
y axss 1 points ~_ x |
I I 10 T -6 4 -2 2 4 3 L] 3
I - (0,5) tedbasapnt | Lines paralel to the x axis take the form I
| Ky L o treyas (eanbe | i o \ y = @ and are horizontal I
| Ghasthe A ’ \OM " any rumber) - e |
N s the Wil e abces be aport. | | HE LS Qlithe points on this Ine have g (3,-2) (7,-2) (-2,-2) |
(v, 0) 5 .
| position on the. position on the
¥ axs first s second on the x axis (a can be L - ay coordnate of -2 all lay on this Ine because the I
L _ i any rember) 1l y coordinate is -2 i
------—"—-—"—-—"-—-"="-"="-""="—""—""7"_—"—_—— 1y, - - - T T a
= The value of k changes the steepness
| Recognise and use the Ine u=x ~—- .. i w1 Recognise and use the nes y=kx s e steer :
| Y410 coordnate have the same I |
I , valie I 49353x y-x Notery =x s the same g5 y=Ix :
| . L :
: : . Exampls of coordnates on th e (0, 0) (-3, -3) (8, 9 : | ] 452 Y kX g:e bigger the value of k the steeper the Ine wil :
0 8 4 4 -2 2 4 & 8 1 I ! «?:“““
| (/A | 7 A |
| . The axes scake is important — if the scae isthe | | They wil abwaus 0 The closer to 0 the vale of k the closer the ne |
: same y = x wil be a straight Ine at 450 : | 1 throwh (00) wil be to the x axis :
TN TS v
| Dlreot Proportion using u=kx : : Linesinthe formy =x + a I| | Plotting U = mx * ¢ araphs :
| The line must be straight to be q | |
| drrectly proportional — variables : : RS 5 - x I : 3 x the x coordnate then — | I
I increase at the same rate k 1 LA § =] | EEC Dot oayts |
| [ D y=x-6| 8 EII y [-10] -1 & nformation |
| , | LT |
I : | 587 AASr Ahaas § % g I: This represents a coordinate pair |
| x' V. Ss1'3-0 I
I ’ I ¢ 2 I| I
| Direct proportion graphs alwaus start at (0,0) as they are [ =" S e | | y .
| describing relationships between two variables - n I | o Yo only need two poits to form :
r—_—_________—_—_—_—_—_—_—_—_—_—_—_'; : ﬂg =Xta | : 2 astraght Ine I
I I_Ims WIth mmtIV@ @fadlents I I This is the e Y when s shows {he I I i I
I Ony straight-lne. graph with a || they and x coordnate are [fe ot I(III;IWIIOII ! I 3 Pottrg roceports fepspo |
| nesative X vale. has g I the same 0 ne | I 1 decice if your catuations are |
| ] o 0 egy-x*D| mEagrEIe [ comect(ftheydomokea |
I ! negalive gradent fs the fne y=x moved 3 | I straight Ine) |
| free [ H Pmesupthe@mph|: |
9 Y7
I y=x yrx=1R Il D fos been added (o each I | Remember 1o join the poirts to I
| of the x coordinates | |
| : I | | make 6 Ine
Crnddregtegutets W o __ o __ |



